PUBLIC SERVICE LEAGUE 2023

TEAM STANDINGS

WEEK: 14/26

DATE: 27-Sep-23

POS	TEAM NAME	В	/f	CURR	POINTS	TOTAL	POINTS		TTL PF	S
		Won	Lost	Won	Lost	Won	Lost	B/f	Curr	Total
1	TEAM MINDEF (TM #11)	180.5	79.5	16.0	4.0	196.5	83.5	29842	2319	32161
2	XIIX (TM #13)	161.0	99.0	20.0	0.0	181.0	99.0	29716	2224	31940
3	HOTSHOTS!2 (TM #09)	157.5	102.5	17.0	3.0	174.5	105.5	29126	2344	31470
4	TEAM XYNERGY (TM #07)	153.5	106.5	11.0	9.0	164.5	115.5	29504	2219	31723
5	SINGHEALTH (TM #01)	150.5	109.5	13.0	7.0	163.5	116.5	28270	2246	30516
6	ALLEYMASTER (TM #05)	143.5	116.5	9.0	11.0	152.5	127.5	28651	2068	30719
7	FRONTLINERS (TM #06)	139.0	121.0	11.0	9.0	150.0	130.0	28682	2162	30844
8	CLUB 7 (TM #02)	143.0	117.0	7.0	13.0	150.0	130.0	28267	2092	30359
9	NP (TM #03)	138.0	122.0	8.0	12.0	146.0	134.0	28104	2078	30182
10	SHIBE (TM #04)	125.5	134.5	12.0	8.0	137.5	142.5	28376	2135	30511
11	MSF12BOWL! (TM #12)	131.5	128.5		16.0	135.5	144.5	27889	1803	29692
12	STRIKE FORCE (TM #08)	108.0		9.0	11.0	117.0	163.0	27872	2174	30046
13	HAPPY BOWLERS (TM #10)	86.5			17.0	89.5	190.5	26809	2072	28881

INDIVIDUAL SPECIAL ACHIEVEMENTS

High Scratch Game (MEN) (min 12 gam	es)	High Scratch Series (MEN) (min 12 gam	es)
Jake Wang (XIIX)	280	Andy Oh (TEAM MINDEF)	900
Danny Yeo (TEAM XYNERGY)	259	Nicholas Lum (TEAM XYNERGY)	887
Felix Lee (XIIX)	255	Raymond Soh (TEAM MINDEF)	884
High Handicap Game (MEN) (min 12 gan	nes)	High Handicap Series (MEN) (min 12 gar	nes)
Kwek Yao Chie (XIIX)	268	Vincent Poh (HOTSHOTS!2)	925
Zhou Wencong (HOTSHOTS!2)	265	Marcus Yuin (ALLEYMASTER)	892
Thomas Lee (ALLEYMASTER)	262	Jae Tay (TEAM XYNERGY)	862
High Scratch Game (LADIES) (mín 12 ga	mes)	High Scratch Series (LADIES) (min 12 ga	mes)
Valerie Teo (TEAM XYNERGY)	245	Lim Fong Yee (XIIX)	815
Goh Peck Khim (SHIBE)	204	Christine Cayabyab (FRONTLINERS)	687
Nazurah Muhd Musa (ALLEYMASTER)	191	Sheena Ng (TEAM MINDEF)	646
High Handicap Game (LADIES) (min 12 ga	ames)	High Handicap Series (LADIES) (min 12 ga	ames)
Noorfizah Hasim (HOTSHOTS!2)	228	Long Chey May (MSF12BOWL!)	813
Serena Foo (SINGHEALTH)	227	Nur Arfizah Aripen (ALLEYMASTER)	791
Cherylin Tay (MSF12BOWL!)	226	Phillis Teo (MSF12BOWL)	782
High Average - Men (min 28 games)		High Average - Ladies (min 28 games	
Zhou Wencong (HOTSHOTS!2)	182.7	Lim Seok Hoon (STRIKE FORCE)	142.3
Helios Tan (HAPPY BOWLERS)	171.9		
Brandon Lye Wh (Shibe)	170.4		
Each howler is only aligible for	r one individual	special award except high average award	

Each bowler is only eligible for one individual special award except high average award.

TEAM SPECIAL ACHIEVEMENTS

High Scratch Game- Team		High Scratch Series- Team						
Team MINDEF (WK 02)	684	TEAM XYNERGY (WK 13)	2483					
ALLEYMASTERS (WK 07)	583	FRONTLINERS (Wk 07)	2158					
High Handicap Game - Team		High Handicap Series – Team						
XIIX (WK 05)	695	HOTSHOTS!2 (WK 02)	2434					
SINGHEALTH (Wk 14)	641	NP (WK 04)	2322					

	SLIC SERVICE LEAGU	E ZUZ	2023 - Bowler Records							
No	Name	M/F	Next HDCP	Total PFS	GMS	AVG	Topup Points	Topup Total	TOP	
INI	GHEALTH (TM #01)									
	Serena Foo	F	35	2,318	16	144	76	2,394	149	
1 2	Derek Ho	M	15	6,075	36	168	10	6,085	169	
3	Vincent Lye	S	35	2,860	20	143	153	3,013	150	
	Ben Ler	M	21	3,695	24	153	101	3,796	158	
4	Aznol Rozajaya	S	32	2,998	20	149	85	3,083	154	
5		F	39	1,617	12	134	122	1,739	144	
6	Rebecca C.Bongco	M	21	2,486	16	155	37	2,523	157	
7	Wee Hong Ee Rosli Ismail	S	22	4,019	24	167	22	4,041	168	
8	Rosii Ismaii	-		- 1,010	-		-	7=1		
9			-	-	-		-	-		
10		_	-	_	-		1=2	-		
11		+	-	2	-		-	-		
12			_	_	-		-	-		
13 14			-		-		-	-		
15		-	-		-		-	-		
	ID 7 (TM #02)									
	JB 7 (TM #02)	T N4	16	2,636	16	164	45	2,681	167	
16	Abdul Adi	M F	35	2,890	20	144	91	2,981	149	
17	Jasmine Ang		19	3,566	23	155	155	3,721	16	
18	Anthony Li	M	16	2,005	12	167		2,005	167	
19	Nicholas Tan	M	17	3,914	24	163	54	3,968	16	
20	Shahriman Arip			4,172	24	173	_ 11	4,183	174	
21	Willy Woon	M	13		12	168	- ' '	2,025	16	
22	Khairulnizam	M	16	2,025	16	162		2,596	16	
23	Cheng Giin Horng	M	19	2,596	20	162	27	3,279	16	
24	Rosli Anwari	S	25	3,252		102	21	5,215	10	
25			-	-	-		-	-		
26			-	-	And the Parliament			-		
27			-		-			-		
28			-		-		-	-		
29			-	-	-					
30										
NP	(TM #03)					,				
31	Raymond Lam	S	35	1,154	8	144	43	1,197	14	
32	Andy Ng	M	17	5,276	32	164	40	5,316	16	
33	Jacob Goh	S	25	5,914		164		5,914	16	
34	Peter Puan	M	23	1,798	12	149		1,851	15	
35	Alvin Tham	S	37	1,068		133		1,178	14	
36	Carlin Lee	M	20	3,191		159		3,217	16	
37	Gerald Ang	M	18	3,282	20	164	9	3,291	16	
38	Leroy Zhong	M	-	-	-		-	-		
39	Ling Ah Chui	S	35	1,141	8	142		1,193	14	
40	Loh Wai Tuck	S	19	690		172		690	17	
41	Melvin Tan	M	27	1,043		130			14	
42	Ng Kay Yang	M	28	564	4	141			14	
43	Loh Jee Seng	M	27	1,109	8	138	52	1,161	14	
44			-	-	-		-	-	-	
45			-	-	_					
SH	IBE (TM #04)									
46	Doris Wong SH	F	39	1,012	8	126	138	1,150	14	
47		F	27						16	
48		M	14				27	4,799		
49		S	29							
50		M	18							
51	David Wee BH	S	33							
52		M	16			165				
53		M	23						_	
		F	29					1,899		
51		F	21					1,354		
54	I MAGIL OTHER OTHER									
55		M	17	1.017						
55 56	Jo Hoon	M	17	1,317	-		-	-		
55 56 57	Jo Hoon	M	-				-	-		
55 56	Jo Hoon	M		-	-		-	_		

FUL	BLIC SERVICE LEAGUE	202.			ecora	5		After We	
No	Name	M/F	Next HDCP	Total PFS	GMS	AVG	Topup Points	Topup Total	TOP UP
ΔΙΙ	EYMASTER (TM #05)		11001	110			1 onto	7000	
		M	23	586	4	146	33	619	154
61	Lennart Ow	M	- 23	- 300	- 4	140	-	- 013	104
62	Shahrim Roslan	F	30	2,462	16	153	35	2,497	156
63	Nazurah Muhd Musa		16		8	168	-	1,348	168
64	Noor Yuhazwan Yazman	M	10	1,348		100		1,340	100
65	Md Haikalmaziz Mazlan	M	- 10	- 4 040	- 0	404	- 2	1,314	164
66	Md Al-Hafiz Rahmat	M	18	1,312	8	164	2		157
67	Nur Arfizah Aripen	F	30	1,863	12	155	26	1,889	
68	Rodney Ser	M	9	729	4	182	-	729	182
69	Zuhaili Mazli	M	7	1,491	8	186	-	1,491	186
70	Hizar Zahir	M	18	2,533	16	158	82	2,615	163
71	Nicolette Chhua	F	16	706	4	176	-	706	176
72	Marcus Yuin	M	16	6,612	40	165	95	6,707	167
73	Ho Lian Yee	M	22	2,437	16	152	57	2,494	155
74	Thomas Lee	M	7	2,974	16	185	-	2,974	185
75	lan Tan	M	6	2,246	12	187	-	2,246	187
FRC	ONTLINERS (TM #06)								
76	Jamari Mohamed	S	19	3,428	20	171	15	3,443	172
77	Abdul Wahab Hassan	S	30	3,080	20	154	53	3,133	156
78	Supramanian	S	27	3,167	20	158	58	3,225	161
79	Jamaluddin Kasa	S	23	3,318	20	165	- 30	3,348	167
80	Amos Lim	M	12	702	4	175	-	702	175
81	Othman Yusop	S	33	1,177	8	147	46	1,223	152
82	Muhd Muhaimin Othman	M	25	1,186	8	148	19	1,205	150
83	Darren K.	M	19	2,554	16	159	35	2,589	161
		M	22	1,236	8	154	5	1,241	155
84	Muhd Azlan Ismail	M			0	134	-	1,271	100
85	Low Kwuan Tjin		- 0	2 245	12	192	2	2,317	193
86	Halim Zul Fahmi Mohamed	M	3	2,315			6	675	168
87	Muhd Farhan Che'Adnan	M	16	669	4	167	3		166
88	Christine Cayabyab	F	23	1,998	12	166		2,001	
89	Ang Siew Ling	F	30	1,222	8	152	40	1,262	157
90	Bernardita M. Gerona	F	39	1,084	8	135	69	1,153	144
TEA	AM XYNERGY (TM #07)								
91	Fadhli	М	8	2,205	12	183	-	2,205	183
92	Melvin Tan	М	16	2,685	16	167	2	2,687	167
93	Danny Yeo	M	3	4,647	24	193	-	4,647	193
94	Jae Tay	M	9	3,654	20	182	1	3,655	182
95	Yeo Wee Siong	M	12	3,503	20	175	8	3,511	175
96	Richard Heng	S	21	3,413	20	170	1	3,414	170
97	Nicholas Lum	М	1	4,757	24	198		4,757	198
	Hayden Tan	M	22	625	4	156	1	626	156
98		M	25	1,139	8	142	55	1,194	149
99	Jeffrey Tan	F	2	3,159	16	197	-	3,159	197
100	Valerie Teo			- 3,138	- 10	101	-	5,100	107
101		-	-		-				-
102		-	-	-			-	-	
103			-					-	
104			-		-		-	-	
105			-	-	-		-	_	
STF	RIKE FORCE (TM #08)								
106	Saharuddin Salleh	S	27	3,181	20	159	57	3,238	161
107	Jason Tan	S	32	5,947	40	148		6,126	153
108	Will Er	S	35	4,049	28	144	125	4,174	149
109	Zainudin Haron	S	31	3,605	24	150	138	3,743	155
110	Chew King John	M	-	-	-		-	-	
111	Lim Seok Hoon	F	35	3,984	28	142	202	4,186	149
112	Derrick Lam	M	30	469	4	117		560	140
113	Daniel Lam	M	29	984	8	123		1,130	141
114	Maslinda	F	39	1,555	12	129		1,725	143
115	iviasiiriua	+-	39	1,000	12	123	- 170	1,725	170
		-	+ -	-	-		-	-	
116									
117				-			-	-	-
118			-	-	-		-	-	-
119			-	-	-			-	
120			-	2	-				

	BLIC SERVICE LEAGU				CCOIG	3	T	After W	
No	Name	M/F	Next HDCP	Total PFS	GMS	AVG	Topup Points	Topup Total	TOP
HO	TSHOTS!2 (TM #09)	the state of the s	TIDOI	110	The state of the s	Service Management of the	1 011113	Total	Oi
			11	0.000	40	477	41	0.040	477
121 122	Andrew Yong Ardi Ramli	M	11	2,838	16	177	4	2,842	177
123	Arnold Teo	M	13 16	3,486 2,677	20 16	174 167	13	3,499	174
124	Ng Boon Hian	M	23	1,192	8	149	5 39	2,682 1,231	167 153
125	Jasper Chua	M	18	3,200	20	160	72	3,272	163
126	Noorfizah Hasim	F	21	2,032	12	169	12	2,032	169
127	Tan Khoon Han	M	12	1,392	8	174	- 8	1,400	175
128	Vincent Poh	S	11	3,692	20	184	-	3,692	184
129	Yang Jianfeng	M	9	3,637	20	181	-	3,637	181
130	Zhou Wencong	M	9	5,116	28	182	4	5,120	182
131	Ellou Wolldelig		-	-	-	102	-	-	102
132			-		-		-	-	
133			-	_	-		-	-	
134			_	-	-		-	-	
135			-	-	-		-	-	
HAF	PPY BOWLERS (TM #1	0)							
136	Goh Seow Yap		21	2,435	16	152	40	2 404	155
137	Ser Ah Bok	S	31 27	1,884	16 12	152 157	49 59	2,484 1,943	155
138	Sulaiman Alias	S	36	1,102	8	137	82		161
139	Jeffrey Lee	M	21	3,644	24	151	- 130	1,184 3,774	148 157
140	Aiman Zakaria	M	27	3,211	24	133	278	3,489	145
141	Norris Ang	M	27	1,657	12	138	91	1,748	145
142	Wilson Lee	M	24	557					
143	Helios Tan				4	139	48	605	151
143		M	14	4,814	28	171	15	4,829	172
	Goh Jun Jie	M	27	2,706	20	135	224	2,930	146
145	Hisham	M	21	1,854	12	154	33	1,887	157
146	Joel Ong	M	27	1,053	8	131	113	1,166	145
147		-	-	-	-		-	-	
148			2		-		-	-	
149 150		_	-	-	-		-	-	
					-		-	-	
	AM MINDEF (TM #11)								
151	Sheena Ng	F	33	1,803	12	150	29	1,832	152
152	Keane Chu Chee Wei	M	14	4,141	24	172	3	4,144	172
153	Raymond Soh	M	-	3,193	16	199	-	3,193	199
154	Brendan Loi	M	8	2,205	12	183	-	2,205	183
155	Andy Oh	M	-	3,304	16	206	-	3,304	206
156	Garan Tok	M	6	3,762	20	188	13	3,775	188
157	Edward Tan	M	11	2,844	16	177	-	2,844	177
158	Jeremy Song	M	15	1,361	8	170	-	1,361	170
159	Steven Ang	M	11	2,841	16	177	-	2,841	177
160	Leow Bing Quan	M	14	2,061	12	171	2	2,063	171
161	Chua Rong Tai	M	1.3	1,392	8	174	-	1,392	174
162	Pearlyn Leow	F	26	1,270	8	158	28	1,298	162
163			-	-	-		-	-	
164			2	-	-		-	-	
165			-		-		-	-	
IN ACT									
IVISI	F12BOWL! (TM #12)				0.4	101	20.	2 022	163
166	Lee Kim Hua	S	25	3.884	24 1	101	39 1	3.92.3	
		S	25 37	3,884	24	161 136	39 188	3,923 2,920	
166	Lee Kim Hua	S F F		. 2,732	20	136	188 67	2,920	146
166 167	Lee Kim Hua Yolanda Chin	F	37		20	136 143	188	2,920 1,783	146 148
166 167 168	Lee Kim Hua Yolanda Chin Phyllis Teoh	F	37 36	2,732 1,716	20 12	_ 136	188 67	2,920 1,783 571	146 148 142
166 167 168 169 170 171	Lee Kim Hua Yolanda Chin Phyllis Teoh Siti Kasmira Hashidah Hashim	F F	37 36 40	2,732 1,716 491	20 12 4	136 143 122	188 67 80	2,920 1,783	146 148 142 141
166 167 168 169 170	Lee Kim Hua Yolanda Chin Phyllis Teoh Siti Kasmira Hashidah Hashim Kanthan Jeganathan	F F M	37 36 40	2,732 1,716 491	20 12 4 12	136 143 122	188 67 80 545	2,920 1,783 571 1,695	146 148 142 141
166 167 168 169 170 171	Lee Kim Hua Yolanda Chin Phyllis Teoh Siti Kasmira Hashidah Hashim Kanthan Jeganathan Barry Ryan Shah Hazman Jamil	F F M M	37 36 40 29	2,732 1,716 491 1,150 - 1,660	20 12 4 12 - 12	136 143 122 95	188 67 80 545 - 111	2,920 1,783 571 1,695 - 1,771	146 148 142 141
166 167 168 169 170 171 172	Lee Kim Hua Yolanda Chin Phyllis Teoh Siti Kasmira Hashidah Hashim Kanthan Jeganathan Barry Ryan Shah	F F M M	37 36 40 29 - 26	2,732 1,716 491 1,150 - 1,660 2,513	20 12 4 12	136 143 122 95 138 157	188 67 80 545 - 111 42	2,920 1,783 571 1,695 - 1,771 2,555	146 148 142 141 147 159
166 167 168 169 170 171 172 173	Lee Kim Hua Yolanda Chin Phyllis Teoh Siti Kasmira Hashidah Hashim Kanthan Jeganathan Barry Ryan Shah Hazman Jamil Long Chey May	F F M M M	37 36 40 29 - 26 28	2,732 1,716 491 1,150 - 1,660 2,513 1,623	20 12 4 12 - 12 16 12	136 143 122 95 138 157 135	188 67 80 545 - 111 42 133	2,920 1,783 571 1,695 - 1,771 2,555 1,756	146 148 142 141 147 159 146
166 167 168 169 170 171 172 173 174	Lee Kim Hua Yolanda Chin Phyllis Teoh Siti Kasmira Hashidah Hashim Kanthan Jeganathan Barry Ryan Shah Hazman Jamil Long Chey May Cherylin Tay Patrick Wong	F F M M M F F	37 36 40 29 - 26 28 37 25	2,732 1,716 491 1,150 - 1,660 2,513 1,623 1,961	20 12 4 12 - 12 16 12 12	136 143 122 95 138 157 135 163	188 67 80 545 - 111 42 133 14	2,920 1,783 571 1,695 - 1,771 2,555 1,756 1,975	146 148 142 141 147 159 146 164
166 167 168 169 170 171 172 173 174 175	Lee Kim Hua Yolanda Chin Phyllis Teoh Siti Kasmira Hashidah Hashim Kanthan Jeganathan Barry Ryan Shah Hazman Jamil Long Chey May Cherylin Tay	F F M M M F F S	37 36 40 29 - 26 28 37 25 23	2,732 1,716 491 1,150 - 1,660 2,513 1,623 1,961 3,971	20 12 4 12 - 12 16 12 12 24	136 143 122 95 138 157 135 163 165	188 67 80 545 - 111 42 133 14 20	2,920 1,783 571 1,695 - 1,771 2,555 1,756 1,975 3,991	146 148 142 141 147 159 146 164
166 167 168 169 170 171 172 173 174 175 176	Lee Kim Hua Yolanda Chin Phyllis Teoh Siti Kasmira Hashidah Hashim Kanthan Jeganathan Barry Ryan Shah Hazman Jamil Long Chey May Cherylin Tay Patrick Wong Cheong Meng Tak	F F M M F F S S S	37 36 40 29 - 26 28 37 25 23 37	2,732 1,716 491 1,150 1,660 2,513 1,623 1,961 3,971 1,685	20 12 4 12 - 12 16 12 12	136 143 122 95 138 157 135 163 165 140	188 67 80 545 - 111 42 133 14 20 87	2,920 1,783 571 1,695 - 1,771 2,555 1,756 1,975 3,991 1,772	146 148 142 141 147 159 146 164 166
166 167 168 169 170 171 172 173 174 175 176	Lee Kim Hua Yolanda Chin Phyllis Teoh Siti Kasmira Hashidah Hashim Kanthan Jeganathan Barry Ryan Shah Hazman Jamil Long Chey May Cherylin Tay Patrick Wong Cheong Meng Tak Chong Choo Ha	F F M M M F F S	37 36 40 29 - 26 28 37 25 23	2,732 1,716 491 1,150 - 1,660 2,513 1,623 1,961 3,971	20 12 4 12 - 12 16 12 12 24	136 143 122 95 138 157 135 163 165	188 67 80 545 - 111 42 133 14 20	2,920 1,783 571 1,695 - 1,771 2,555 1,756 1,975 3,991	146 148 142 141 147 159 146 164

PUBLIC SERVICE LEAGUE 2023 - Bowler Records

After	Week	#14

No	Name	M/F	Next HDCP	Total PFS	GMS	AVG	Topup Points	Topup Total	TOP UP
XIIX	(TM #13)								
181	Kwek Y.C	M	7	2,989	16	186	-	2,989	186
182	Lim Fong Yee	F	5	3,073	16	192	-	3,073	192
183	Ng Siong Boon	M	11	2,124	12	177	17/	2,124	177
184	Khairul Salleh Abu Bakar	S	20	3,399	20	169	28	3,427	171
185	Abdul Rahman Hussin	M	15	3,375	20	168	14	3,389	169
186	Jake Wang	M	7	2,984	16	186	3	2,987	186
187	Tan Chee Keong	M	9	4,164	23	181	11	4,175	181
188	Low Chang Hong	M	13	2,779	16	173	-	2,779	173
189	Felix Lee	M	3	3,075	16	192	20	3,095	193
190	Alvin Gan	M	8	2,216	12	184	-	2,216	184
191			-	-	-		-	-	
192			-	-	-		-	-	
193			-	-	-		102	-	
194			-	-			-	-	
195			-	-	-		-	-	

DITIDI	10	SERVICE	_ _	ACLIE	2022
PUBL	10.	SERVICE		AGUE	2023

Week:

14 /26

27-Sep-23

None	PUB	LIC SERVICE LEAGUE 2023	•					week:	14 /20	,		27-Sep-23			
7 SLIND	LID	Name	Hon	Game 1	Game 2	Game 3	Game 4	Series	G1 w/hcp	G2 w/hcp	G3 w/hcp	G4 w/hcp	Tot+Hcp	Pts-won	Total Pts
Total			Пор	Odino i	Odino L	Odino o	Odino !	Come							
Team#14 score 10 0 0 0 0 0 0 0 140		BLIND	0	0	0	0	0	0 1	140 0	140 0	140 0	140.0	560 0	0	
Second Process Seco	7.1														
NUX (TM #11)															0
Name	7.3		0	0	0	0	0	0	140 0	140 0	140 0	140 0	560 0	0	
8.		Team#14 score	0	0	0	0	0	0	420 0	420 0	420 0	420 0	1680 0	0	
8.1 Kinarul Salleh Abu Bakar 18 136 189 168 144 637 1541 2071 1861 1621 7061 5 20 20 20 20 20 20 20	8														
B.2 Abdul Rahman Hussin			10	126	100	160	111	627	15/1	207.1	106 1	162.1	700 1	5	
Rest Team#13 score															
8.3 KWeX Y.C. ** **Point**15** score** 40 ** 198** 288 ** 198** 398 ** 198** 480** 284** 585** 284** 585** 285** 585															20
HAPPY BOWLERS (TM #10)	8.3	Kwek Y.C	6	159	224	158	194	735	165 1	230 1	164 1	200 1	759 1	5	20
9 HAPPY BOWLERS (TM #10)			40	456	584	512	512	2064	496 1	624 1	552 1	552 1	2224 1	5	
Section Conference Section Conference Section Conference	Q														
1. 1. 1. 1. 1. 1. 1. 1.			20	150	150	152	122	507	102 0	190 1	193 0	163.0	717 0	1	
Second S														1	
13 Helios Ian Team#10 score 13 17 185 144 101 1027 1390 1381 1370 1470 1270 1 1 1 1 1 1 1 1 1															3
10. Amold Fee	9.3	Helios Tan													
TO NOTSHOTSIZ (TM 809)		Team#10 score	62	458	493	457	416	1824	520 0	555 1	519 0	478 0	2072 0	1	
10.2 Arnold Teo	10														
10.3 Vincent Poh			20	246	152	200	105	762	226.1	172 0	220.1	205.1	9/3 1	1	
10.3 Vincent Poh 9 190 168 178 165 691 1991 1670 1871 1741 7271 4 172 1 1741 1727 4 171 1 1741 1727 4 1 1 1 1 1 1 1 1 1															
10,3 Vincent Poh 191 100 100 1															17
Team#9 score 38 597 500 666 529 2192 6351 538 6041 567 1 2344 4 11 11 12 12 14 14 1	10.3	Vincent Poh													
11 CLUB / (TM #02)			38			566			635 1	538 0	604 1	567 1	2344 1	4	
11.1 Cheng Gin Horng	11														
11.2 Anthony Li			21	170	202	172	145	680	101 0	222 4	103 0	166.0	773 0	1	
11.3 Shahriman Arip 17 170 148 143 201 662 1871 165 1 160 0 218 1 730 1 4 1 12 1 1 1 1 1 1 1														1	
13.3 Shahmma Arip 17 170 148 143 207 662 187 1 105 1 100 218 7.30 1 4 12 12 12 13 13 13 14 158 190 641 196 1 171 0 195 1 227 1 789 1 4 12 180 171 131 190 672 202 1 183 1 153 1 212 1 760 1 1 1 1 1 1 1 1 1															7
Team#2 score 56 514 473 425 456 1868 570 529 1 481 0 512 0 2092 0 2	11.3			170				662							
12 SINCHEALTH (TM #01)			56		473	425		1868	570 1	529 1	481 0	512 0	2092 0	2	
12,1 Vincent Lye	12	SINGHEALTH (TM #01)													
12.2 Rosii Ismail	12 4	Vincent Lye	37	150	124	150	100	6/1	106 1	171 0	105 1	227 1	780 1	1	
13 13 15 15 15 15 16 17 18 18 18 18 18 18 18															
12.5 Sen Lef Team#1 score 80 457 434 474 561 1926 537 0 154 0 554 1 641 1 2246 1 3															13
Team#1 score	12.3	Ben Ler	21	118	129	185	181	613	139 0	150 0		202 0			
13 FRONTLINERS (TM #06)			80	457	434	474	561	1926	537 0	514 0	554 1	641 1	2246 1	3	
13.1 Othman Yusop 32 162 137 161 148 608 194 169 0 193 1 180 0 736 0 2 13.2 Mulha Muhalmin Othman 22 157 141 125 136 559 179 0 163 0 147 0 158 0 647 0 0 0 13.3 Jamari Mohamed 20 145 191 164 199 699 165 1 211 1 184 1 219 1 779 1 5 1 1 1 1 1 1 1 1	13														
13.2 Muhd Muhamim Othman			22	162	127	161	140	609	10/1	160 0	103 1	180 0	736.0	1 2	
13.3 Jamari Mohamed															
13.3 Jaman Monamed 16.5 19.1 16.4 19.9 19.5 16.5 12.1 16.4 12.1 17.9 1.5															11
Team#6 score 74 464 469 450 483 1866 538 543 5240 557 2162 1	13.3	Jamari Mohamed	20	145	191	164	199	699	165 1	211 1	184 1	219 1	779 1	5	
14.1 Nazurah Muhd Musa 30 154 151 159 154 618 184 0 181 1 189 0 184 1 738 1 3 14.2 Ho Lian Yee 23 169 152 159 166 646 192 1 175 1 182 1 189 1 738 1 5 14.3 Hizar Zahir 15 99 137 166 130 532 114 0 152 0 181 0 145 0 592 0 0 14.3 Hizar Zahir 15 99 137 166 130 532 114 0 152 0 181 0 145 0 592 0 0 151 0 152 0 181 0 145 0 152 0 181 0 145 0 152 0 181 0 145 0 152 0 181 0 145 0 145 0 152 0 152 0 181 0 145 0 152 0 152 0 181 0 145 0 152 0 152 0 181 0 145 0 152 0		Team#6 score	74	464	469	450	483	1866	538 1	543 1	524 0	557 1	2162 1	4	
14.1 Nazurah Muhd Músa	14														
14.2 Ho Lian Yee			20	154	151	150	154	619	1940	191 1	180 0	18/ 1	738 1	1 3	
14.3 Hizar Zahir 15 99 137 166 130 532 114 0 152 0 181 0 145 0 592 0 0 185 185 0 185															
14.3 Hizar Zahir															9
15 STRIKE FORCE (TM #08)	14.3	Hizar Zahir													
15 STRIKE FORCE (TM #08)			68	422	440	484	450	1796	490 0	508 0	552 1	518 0	2068 0	1	1-1-1
15.1 Lim Seok Hoon	15														
15.2 Jason Tan			25	1/2	100	162	155	562	179 0	127 0	109 1	100 0	703.0	1 1	
15.3 Saharuddin Salleh 29 186 111 199 185 681 215 1 140 0 228 1 214 1 797 1 4 161 152 154 162 162 162 1790 163 164 1790 165 164 165															
Team#8 score 96 467 362 499 462 1790 563 1 458 0 595 1 558 0 2174 0 2 1 1 1 1 1 1 1 1 1						13/									9
Team	15.3	Saharuddin Salleh													
Team		Team#8 score	96	467	362	499	462	1790	563 1	458 0	595 1	558 0	2174 0	2	
16.1 Richard Heng	16				7			Manage and the same and the sam							
11 16.2 Melvin Tan			21	172	174	159	101	695	193.1	195.1	179.0	212 1	779 1	4	
16.3 Danny Yeo 2 196 179 203 166 744 198 0 181 1 205 0 168 0 752 0 1 3															29.8
Team#7 score 2 196 179 203 166 744 198 0 161 1 205 0 168 0 732 0 1 1 1 1 1 1 1 1 1	10.2	ivieivin i an						032		100					11
17. SHIBE (TM #04)	16.3														
17.1 David Wee BH 35 160 174 161 152 647 195 209 196 187 787 4 17.2 Faizal Hashim 18 146 133 119 151 549 164 151 137 0 169 1 621 0 2 17.3 Ngan Chia Chia 18 205 142 140 168 655 223 1 160 0 158 0 186 1727 1 3 18 18 18 18 17 171 1851 18 18 18 18 18 18		Team#7 score	37	508	497	529	537	2071	545 0	534 1	566 0	574 1	2219 1	3	
17.1 David Wee BH 35 160 174 161 152 647 195 209 196 187 787 4 17.2 Faizal Hashim 18 146 133 119 151 549 164 151 137 0 169 1 621 0 2 17.3 Ngan Chia Chia 18 205 142 140 168 655 223 1 160 0 158 0 186 1727 1 3 18 18 18 18 17 171 1851 18 18 18 18 18 18	17														
17.2 Faizal Hashim			35	160	174	161	152	647	195 1	209 1	196 1	187 0	787 1	4	
17.3 Ngan Chia Chia 18 205 142 140 168 655 223 160 0 158 0 186 727 3 12 18 18 18 151 185 1			_												
Team#4 score 71 511 449 420 471 1851 582 1 520 0 491 0 542 1 2135 1 3	17.2	raizal nashiili													12
18 NP (TM #03) 18.1 Jacob Goh 24 170 149 148 166 633 194 0 173 0 172 0 190 1 729 0 1 18.2 Carlin Lee 18 131 147 151 131 560 149 0 165 1 169 1 149 0 632 1 3 18.3 Andy Ng 17 170 166 157 156 649 187 0 183 1 174 1 173 0 717 0 2 19	17.3		-												-
18 NP (TM #03) 18.1 Jacob Goh 24 170 149 148 166 633 194 0 173 0 172 0 190 1 729 0 1 18.2 Carlin Lee 18 131 147 151 131 560 149 0 165 1 169 1 149 0 632 1 3 18.3 Andy Ng 17 170 166 157 156 649 187 0 183 1 174 1 173 0 717 0 2 190 1 190			71	511	449	420	471	1851	582 1	520 0	491 0	542 1	2135 1	3	
18.1 Jacob Goh 24 170 149 148 166 633 194 0 173 0 172 0 190 1 729 0 1 18.2 Carlin Lee 18 131 147 151 131 560 149 0 165 1 169 1 149 0 632 1 3 18.3 Andy Ng 17 170 166 157 156 649 187 0 183 1 174 1 173 0 717 0 2 2 18.3 Andy Ng 17 170 166 157 156 649 187 0 183 1 174 1 173 0 717 0 2 19 MSF12BOWL! (TM #12) Team#3 score 59 471 462 456 453 1842 530 0 521 1 515 1 512 0 2078 0 2 19.1 Kanthan Jeganathan 29 87 65 71 88 311 116 0 94 0 100 0 117 0 427 0 0 19.2 Hazman Jamil 24 127 125 134 117 503<	18														
18.2 Carlin Lee 18 131 147 151 131 560 149 0 165 1 169 1 149 0 632 1 3 8 18.3 Andy Ng 17 170 166 157 156 649 187 0 183 1 174 1 173 0 717 0 2 Team#3 score 59 471 462 456 453 1842 530 0 521 1 515 1 512 0 2078 0 2 19 MSF12BOWL! (TM #12) 19.1 Kanthan Jeganathan 29 87 65 71 88 311 116 0 94 0 100 0 117 0 427 0 0 19.2 Hazman Jamil 24 127 125 134 117 503 151 0 149 0 158 0 141 0 599 0 0 19.3 Cheong Meng Tak 24 147 165 187 182 681 171 0 189 1 211 1 206 1 777 1 4 20 TEAM MINDEF (TM #11) Team#12 score 77 361 355 392 387 1495 438			24	170	149	148	166	633	194 0	173.0	172 0	190 1	729 0	1	
18.3 Andy Ng 17 170 166 157 156 649 187 0 183 1 174 1 173 0 717 0 2 Team#3 score 59 471 462 456 453 1842 530 0 521 1 515 1 512 0 2078 0 2 19 MSF12BOWL! (TM #12) 19.1 Kanthan Jeganathan 29 87 65 71 88 311 116 0 94 0 100 0 117 0 427 0 0 19.2 Hazman Jamil 24 127 125 134 117 503 151 0 149 0 158 0 141 0 599 0 0 19.3 Cheong Meng Tak 24 147 165 187 182 681 171 0 189 1 211 1 206 1 777 1 4 20 TEAM MINDEF (TM #11) Team#12 score 77 361 355 392 387 1495 438 0 432 0 469 0 464 0 1803															1 -
Team#3 score 59 471 462 456 453 1842 530 0 521 1 515 1 512 0 2078 0 2															8
19 MSF12BOWL! (TM #12) 19.1 Kanthan Jeganathan 29 87 65 71 88 311 116 0 94 0 100 0 117 0 427 0 0 19.2 Hazman Jamil 24 127 125 134 117 503 151 0 149 0 158 0 141 0 599 0 0 19.3 Cheong Meng Tak 24 147 165 187 182 681 171 0 189 1 211 1 206 1 777 1 4 19.3 Cheong Meng Tak 24 147 165 187 182 681 171 0 189 1 211 1 206 1 777 1 4 19.3 Cheong Meng Tak 20 TEAM MINDEF (TM #11) 20 TEAM MINDEF (TM #11) 20.1 Brendan Loi 12 167 165 243 228 803 179 1 177 1 255 1 240 1 851 1 5 20.2 Edward Tan 20.2 Edward Tan 11 168 172 173 197 710 179 1 183 1 184 1 208 1 754 1 5 20.3 Chua Rong Tai 10 190 150 157 177 674 200 1 160 0 167 0 187 0 714 0 1	18.3														-
19.1 Kanthan Jeganathan 29 87 65 71 88 311 116 0 94 0 100 0 117 0 427 0 0 19.2 Hazman Jamil 24 127 125 134 117 503 151 0 149 0 158 0 141 0 599 0 0 19.3 Cheong Meng Tak 24 147 165 187 182 681 171 0 189 1 211 1 206 1 777 1 4 20			59	4/1	1 462	456	1 453	1842	530 0	527 1	5151	5120	20/8 0	1 4	
19.2 Hazman Jamil 24 127 125 134 117 503 151 0 149 0 158 0 141 0 599 0 0 19.3 Cheong Meng Tak 24 147 165 187 182 681 171 0 189 1 211 1 206 1 777 1 4 180 180 180 180 180 180 180 180 180 180				7											
19.2 Hazman Jamil 24 127 125 134 117 503 151 0 149 0 158 0 141 0 599 0 0 19.3 Cheong Meng Tak 24 147 165 187 182 681 171 0 189 1 211 1 206 1 777 1 4 180 180 180 180 180 180 180 180 180 180	19.1	Kanthan Jeganathan	29	87	65	71	88	311	116 0	94 0	100 0	117 0	427 0	0	
19.3 Cheong Meng Tak		· ·													
Team#12 score 77 361 355 392 387 1495 438 0 432 0 469 0 464 0 1803 0 0 20 TEAM MINDEF (TM #11) 20.1 Brendan Loi 12 167 165 243 228 8 803 179 1 177 1 255 1 240 1 851 1 5 20.2 Edward Tan 11 168 172 173 197 710 179 1 183 1 184 1 208 1 754 1 5 20.3 Chua Rong Tai 10 190 150 157 177 674 200 1 160 0 167 0 187 0 714 0 1															4
20 TEAM MINDEF (TM #11) 20.1 Brendan Loi 12 167 165 243 228	19.3		_												1
20.1 Brendan Loi 12 167 165 243 228 \ 803 179 1 177 1 255 1 240 1 851 1 5 20.2 Edward Tan 11 168 172 173 197 710 179 1 183 1 184 1 208 1 754 1 5 20.3 Chua Rong Tai 10 190 150 157 177 674 200 1 160 0 167 0 187 0 714 0 1			11	367	355	392	38/	1495	438 0	432 0	409 0	404 0	1803 0	1 0	
20.2 Edward Tan 11 168 172 173 197 710 179 1 183 1 184 1 208 1 754 1 5 20.3 Chua Rong Tai 10 190 150 157 177 674 200 1 160 0 167 0 187 0 714 0 1															
20.2 Edward Tan 11 168 172 173 197 710 179 1 183 1 184 1 208 1 754 1 5 20.3 Chua Rong Tai 10 190 150 157 177 674 200 1 160 0 167 0 187 0 714 0 1	20.1	Brendan Loi	12	167	165	243	228	803	179 1	- 177 1	255 1	240 1	851 1	5	
20.3 Chua Rong Tai 10 190 150 157 177 674 200 1 160 0 167 0 187 0 714 0 1													754 1		40
20.0 ones rong ren			_												16
	20.3		-												1
		leam#11 score	33	525	1 48/	1 5/3	002	1218/	1 220 1	1 520 1	000 1	035	2319	1 5	